E000733 / J

5)

D100 B74/B80 DETACHABLE DRUM BRAKE WHEELS
D100 B74/B80 AFNEEMBARE TROMMELREMWIELEN

Plan No.

E000733/J

1/3
Scale: 1:4 Drafted Verified Confirmed
Date 30/05/2011 | 10/12/2021| 10/12/2021
Initials SD AZ JJQ




Material
No. Plan Article Quantity Description
1 3990041 2 HAND GRIP FOR ECLD CN /200F/300F/708D
2 X002356 1502800 2 DRUM BRAKE ATTACHMENT ECLIPS ZINK
Handlebar(22) 3990706 2 BRAKE SET WITH CABLE D22
DRUMSET(L) 3990705 1 DRUM SET WITH AXLE LEFT SIDE
DRUMSET(R) 3990708 1 DRUM SET WITH AXLE RIGHT SIDE
3A X002437 1992699 2 NUT FOR ADAPTOR B80+B72 ECLIPS
3B 1906205 2 AXLE QUICK RELEASE []12 B74
3C 1993218 (2X) 0.75m CABLE HOSE GREY BLACK FOR ECLIPS
3D 1004094 (2x)0.95m BRAKE CABLE 1.25M
3E 1004109 2 COVER FOR "STOP"CABLE ALU
| 3F 922 1994012 2 BRAKE LEVER WITH PAWL VERTICAL ¢22
| 36 1911653 2 LOCKWASHER DIN128 M16
| 3H X005815 1914817 2 ADAPTOR FOR B80 B74 (62mm)
4 XC00017 1C11600 2 BUSHING 912.3X ¢ 6,1X12 ZINC
5 X003986 1902199 2 ALU BUSHING ¢ 25X ¢16,1X16
6 X004898 17551 (L) 1 WHEEL BLOCK LEFT V100G RAW
X004897 17552 (R) 1 WHEEL BLOCK RIGHT V100G RAW
7 1001486 2 COUNTERSUNK SOCKET SCREWS DIN 7991 M6X50
8 Y006560 1575054 2 TUBE FOR GRIP D100 C13
9 1006999 2 HEXAGON SOCKET BUTTON HEAD SCREW M6X20
10 3990599 2 WHEEL 24"PU DRUMBRAKE STEEL HUB 36 SPOKE
3G 1993237 2 LOCKWASHER DIN128 M16
12 1008492 4 CLOSED NUT M6X12
13 1003909 2 HEX.SOCKET HEAD CAP SCREW DIN912 M6X40
14*
15%* 1001580 4 BOLT IN PVC HEAD ] 40MM M8X20
16 Y006559 1995662 2 SPRING FOR HAND GRIP JAZZ 30
17 Y001772 17609 2 GRIP EXTENSION WITHOUT NUT
18 1001589 2 PIVOT 5X18 K11 POINT BOLT

3A - 3G part of 3
*: not depicted
**: two spare pieces

E000733 / J

D100 B74/B80 DETACHABLE DRUM BRAKE WHEELS Plan No.
D100 B74/B80 AFNEEMBARE TROMMELREI\/IWIELE;J3 F000733/J]
Scale: 1:4 Drafted Verified Confirmed \\\V/’/
Date 30/05/2011 | 10/12/2021 | 10/12/2021
Initials SD AZ JJQ 22




3990708

3990705

E000733/J

3990706

D100 B74/B80 DETACHABLE DRUM BRAKE WHEELS
D100 B74/B80 AFNEEMBARE TROMMELREMWIELEN

3/3

Plan No.

E000733/J

Scale:

1:4

Drafted

Verified

Confirmed

Date

20/08/2021

10/12/2021

10/12/2021

Initials

AZ

AZ

JJQ

\
000,



Administrator
铅笔

Administrator
铅笔

Administrator
铅笔

Administrator
铅笔

Administrator
铅笔


	E000733_J_D100_B74_B80_Detachable_Drum_Brake_Wheels(1)
	E000733_H_D100_B74_B80_Detachable_Drum_Brake_Wheels

	E000733_J_D100_B74_B80_Detachable_Drum_Brake_Wheels(1) - 副本
	E000733_H_D100_B74_B80_Detachable_Drum_Brake_Wheels


